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L WAa-3,5,7,0, 11}, B=(7,9,11, 13}, ¢ = {11, 13, 15} @K D = {15, 17}, T

MUMnmuqu
(A) @3,5,9

© 7,9 11,15
TA=@,5,7,09, 11
AvDnBUQg:
(A) (3,5, 9

“'- y:) {7,9, 11, 15}

(B) _{7, 11, 15}
(D) ¢
B={7,9,11, 13}, C=(11, 13, 15} and D= {15, 17}, find

B) {7,11,15)
‘D) ¢

T (B- qém

J ] - -'h"" 1
g @ W U=11,2,3,4,s5, 67,8, 9},A={1.2,3,4}.B-{2,4,6,a}eﬁ-{c={3,.4,5,6},
r: (A) {1,3,4,5,6,7, 9

1

B) {1,4,7,8,9 12,789
© 84,68 O 245,678 T
Let U= {1, 2.3,4,5,6,7,8,9) 4= 11,2,3,4), B~ {2458}andc={3455},
L find (B2Q: | _ |
T ® {1,3,4,5679 ® 047,89  42¢ 2 N
)} © B4ss

{D] iﬁ455'7a}

. 3. M dif A - {x,y,z;a?r{B={1 2},@A%B%mﬂ%mé\1ﬁ

3
@ s B) 9 |

- €24 (D) 64

|1 Let A= (x, y, 4'and B= {1 2}, then nufnber of relations from Ainto Bwﬂl be:
et - ® 9

f. (0.24 i TR T 0 @
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(4)
4. BT -1930° R wafer ¥ Ryg & ?
&) v agen () fh S
©) T Tgate S E (D) =gt =g
In which quadrant do the angle ~1930° lie : '
(A) 1st qgadrant : (B) 2nd quédrant -
9 3rd quadrant [D} 4th quadrant
5. -3 M a+ibd wy F a7 3¢ - ' '
(A) 0+0i (B) -10+ 198i
(C) 10- 198 (D) -10-198i
Write (5-3i)2 in the form of a + ib’ |
(A) 0+ 0i | " dmp-10+198i -
(C) 10 - 198i _ BT —10-198i . O
6. wﬁyﬁﬁ@ﬁwmaﬁaﬂﬂmﬁ%mﬁgﬁﬁm%ﬁiﬁ 1
R 2wy Mgma%qaﬁqﬁaﬁmﬂﬁqmﬁsﬁgaﬁw.
61 2 o = A - :
STk B ‘ B) &AM
T o e - ) 10%

. The longest side of a triangle is 3 times the shortest side and the third side is *
. 2.cm shorter than the longest side. If the perimeter of th
m. Find the minimum length of the shortest side :

ji9cm < (B). 6 cm
(C) 4cm- Rlgt e (D) 10 cm
7. W "R =43Py, >4, RnmAAE:
Y 10 S oy banats )6
© o b B R
ST Ps =42 "P3, 'n> 4, the value of nis : :
10 (B) 6
©).0 - gt o WL
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113 AL IR - 3

54
8RB (5) Lol 35
o X w ; 3 28X
8, ——3] %mesmwmﬂ?fﬁq: x T
2 (3 Y . ﬁé“— 2 fey
sll'hl'.\f . ' b J .
f ! (A) 105x%y3 ,{B}/iOS;ay4 ' 27 L—— '
'2{ (C) 105xy'5 | ' (D) 105x5y :
*Er x 7 ﬂto""’ WC‘*I b mﬂ?‘;‘
:i Find 5th term in binomial expansion of (-5- Sy]
& (A) 105x%y3 (B) 165x3y4
(C) 105xy® _ (D) 105x%y
®. 9 gpl 1l 1 . .
3’9’27’ EJFJ:'_#ﬁhlﬁ196&33%
@) 78 (B) st
(C) oft (D) 44 -
. SRS 1
h t ft P =
Whic errp of the G 39’ 27 is 15683
(&) 7th (B) Sth
Ly~ 9th . (D) 4th
TEAP.50913,17 ... % 17 W w e T 1
NS #9629 ®) 529
(C) 615 (D) o

Find the sum of 17 termis of the A. P.5,9; 13, 17,0,

(A) 629 (B) 529

(C) 615 (D) O

‘P.T.O.
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"“ 'y'_,,.-'
Jz.qﬁmmm%@%mm@mmmﬂ g w5 & @ faum
L T S A 1
0 I A. M. and G. M. of roots of a quadratic equation are 8 and 5, respectively,

, ~ then obtain the quadratic equation,

o yz s |
:i'*;i=1la>b)*fhﬂmaimmmﬁl_ _ :
i - ; - s ' :
? rite equation of directrix of an ellipse = +-y-2— =1(a>b). :
e Sy 0T B L F
;- =, o
g 1_;’;
b
4
cosec x F HIEG T FPIQ a _ o AR Y 1ﬂf
Find thé derivative of coscé 2. > T 5
el n WA Sl W e §e w0 . 1
. - 23N ; -f
Find the mean of first n natural numbers. . o e _

}{@ﬁﬁmm%,sﬁmm-mﬁmﬁmmﬂﬁm e q
A die‘is thrown, find the probability that a number less than 3 will appear.

AT TR e I W aREm A e 2 5 e Rl g
: P : » s . S
€ If an event is impossible, then what will be its probability ? 0.

@ P(A);g A P(B)=% Rar mr 1 AR A IR B R et g g ah'p(_,q:or B
Given P(A)=> and P[B]:%, find MAor B, if Aand B are mutually éxclusive

" events.
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| ™ o
i / _\-%A“qﬁ[4x+3‘,y]-(3x+5,-.-2],ﬁf xnzcﬁ“{y=—2- ; )

1

T (R): AR A=(-1, 3, 4}.i?tAxA%{(—1 -1, (-1, 3), (-1,9), (3, -1}, (4, 1), (3, 4)}

) AT (R) TR (R), () e § X +3=3 45
B) (&) Eﬁ%’ (R) 'ﬂ.ﬂ%; (R), (A) ﬂﬂﬂwqﬁ% @""’ Ak

| G =-2>
_der (A) ®E &, (R) argw @ C L3O X[, ) -.

o W md )fc“'fi‘);(-w) (A (3,3, (24), (4, U

: (%
Assertion (A) : If (4x + 3, Y) = (3x+ 5, -2), then x=2and y=-2

Reason (R)£ IfA={], 3, 4}, menAxms {(—1 -11 (-1, 3), (-1, 4), (3, -1),

- : (4, -1), (3 9%

L (A) () is true, ®) is nue,__ (R) is correatkexplanation of (A)

3 B) (A) i's true, (R} is true; (R) is not a correct explanation of (A)

(C) (&) is true, (R).is false N

(DL A)is "ral‘s;, (R) is true

. (A) : oﬁwmﬁmﬁﬂﬂwu i ; 1
a% (R) : SFerT- Sl ﬁ'ﬁaﬂ %’gﬂfmﬁa T H H‘ﬁ# T %n IR <

Ef (z}J (A) m % (R] aa: % i('R], (A) eﬂ,r e Sl ¥ . '

gf B W R Ri, () 8 = =8 3

i O @ m%, (R) 376 ¥

2 (D) (A) o7 ¥, (R) ¥ &

; 2631 P T.0.
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Assertion (A) : The collection of all natural numb

Reason (R) : A sct is a well defined collection of the distinct obj

(8)

jects.

L (&) is true, (R) is true; (R) is correct explanation of (A)

(B) {A) e ‘Lr'l.le (R) is true; lRl is not a correct cxplanatlon of (A)

(C) (A)is true, (R) is false

(D) (A)is false, (R) is true
f{ﬁx‘ N 1' Ir.‘__‘_n-- -|1‘ _--.'\ " |"|._ e It . ',m-o?a. ;
a SECTION-B -
< Pt & ¥ 5% 3 R Sug 39 omtw €N -
(i) (Av B (iij) A'NB £
Draw appropriate Venn diagram for each of following : '
- ). (AvuB (i) ANB
(z/aa(iﬁ ; i
o ‘ : i -x?2+x-2=0
gt Solire : &
1 -x2+x-2=0
L 1+L : -u:_«r-:.k
: x"'ﬂx+z 1—'?_'*0 0R-+1’-‘—_-_Jf_ '
F | {uz)ﬂ( R C SR o
e Iy ' P
; \Q-_ . m ?fﬁ _._} ; ;:L Mg
ik '[1 7] ( 1) (_4 ] (0 -4 0)E)
: « —+i=|+|d+i=||-| —+ :
: [\3 \ 3/] 3 | =t =
' 'ESlmplify - g . :
i, i Ay g L
; —+i=]4+ ===
3 _[3 ‘3] (4“3]_ [-3 “)

'-.‘ 2631 .!e-.L 4 l{ }
T R
P lg

e

S -j-
+3 gl
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ers less than 100 is a set.
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3,2, 2, % R w o ¥ s e e 3501629 B ? 2

How many terms of the G..P. 3 < i: ........ are needed tO give the sum
. : 1 |

3069 ., ) "’ /ﬁ s

___I? : A . A 3 4 # gl -"'_T

512 )
| $ag = i gu.-m: 2x-t
@'@aﬂ H FEE T 'ﬂﬁm R i (0 0), (2, 3; 3 rinar .3 eiit E )éa&ﬂ{-"

IR B i % -~z
* Find the equation of parabola with vertex at the ongm, passfh [ ugh (2, 3)

and axis along x-axis.

6R T / Al

. f Y
ﬁqmw x2 =-16y %mﬁ%ﬁﬁﬁmmﬂﬂwm T
Find the coordinates of focus and equatmn of dlrcctnx of parabola x2 = -—16y

E"’E’ "'T
~SECTION-C

55@%@*140@%2 1oﬁﬁzamaﬁﬁwmﬁ§|m
R ok 3P el B 8, Bede 7 e\ R 2F ik wa ¥ 7 3

In a group of 65 pcople 40 hkc cnckct-' 10 like both cnckei and tenms How
 many like tennis only and not cricket ?. How many~hkc tennis ? : '

CP.T.O. 1

]
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" xX= "5 E-Tl 3
Find domeun and range of real furiction fx) = -|x:| ‘Also ﬁnd v‘hluc of functlon.
A at x=-5.
; ’ _ ; U
b WW%mﬁmmmﬂmz 8.
[ %3 ' = g
LA ZEIH i +n< — [.’21’1.-!-1]2 }
WEE Vne N 7
Using principle of mathematical induction, prove' thatforallne N: -
i S 9 : . * AT el
I Y : {2884, . incs (2n +1)° IR - i
{ . | 8 S &
Ly 13 i : al e
Al - o B Y T T : i< & T
X s : ~OR . L
itwia sreE & Rieia @1 w@m 5@ e Sk = . a3}
12432452 4. k@012 = 1ER 13)(2" 1)
L] ' 2 . - . g ;!-
'.'._'Wﬁﬁ'ﬁfcfneﬂ : ;
' . : | # _e,;_
Prove the followmg by usmg thc prmcnple of mathematical induction, for
allpeN: £
l i - '-f 12 + g2 +52 4 5.4 2n -1% = i 2(2]"‘ +1) :
| . !“ 'I- 5 : SR e 3 L ’ . " W

Flnd the value of x for whu:h the pomts x, -1), ,J.) and- (4, S),are collinear. .

ﬁwwmmmmﬁgm 1),(2 1)@1(4 5)qz|ﬁmifé’n % 3,

et ‘. - _ .\.f. 9-‘.__..-"‘ = L‘ .
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: H :"chi_rfllf{x) wafs o . 3

2
f[x]= ‘x 2—‘1 =5 xS].
-1 , x>1

Find : lim f(x) where :
x—1

' x“ -1 , xs1
. o
§- ' ' e [—x2—1 » x>1
g4y
OR

(5x° +3x - 1)(x~ 1) T SHT T AR . | 3

Find the derivative of (5x> +3x-1)(x-1).

EWF&@%%%P{E]:%, P(F):%aﬂ'cﬂéeﬂtf'j:%,i 3

qaiRq
i) PAETH
(i) PETE I F7E)

' | : 1
If Eand Fare events such that P(E]:%, 'P{F):-% and AEand A=<

find "
i ' : )i F 4= ck
() PEorR 21t = A \
(i) P(not E and not F) . 2 ey
X
%
= e,
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G g~y
| SECTION =D

() cos4x=1-8sin? xcos? x

(i) cos?2x-cos?6x'=sin4xsin8x
Prove that :

o ey

(i) cos4x =1-8sin? xcos? x

| (i) _cos?2x-cos?6x= sin4xsin8x

2631

" 24+3=5§

- B8 mnﬁnwuﬁ’mmﬁgq(mb) 3} - b)“ﬁaﬁzﬁaﬂr 3+~)'-)4 Jg e
2N A m By _ a
| Usmg \bmorrual theorem, find ' (a -_Ifb) —(af‘b] . Hen.cc__-._ z:‘fvaluat% _
A +r)“ (r J")“ BN e 8
' %a"ra 88, 888, sqaa %nqﬁﬁlﬁﬁmﬁiﬂﬁm ' SE;:
'Find the sum of n.tcrms of: thc sequence '8, 88, 888, 8888, .. ‘,‘
APQR%smtfﬂz 1),@(-2 3)@1‘{}2{4 5}%|aiﬁR Q%Wﬁﬂiﬂmiﬂmi
‘;' R q‘,"}ﬁm .- _-_'%;\-:_ ; : ré
B oy s vcrtxccs CEiA pQR are P(2 1), Qt—z 3] and R(4 5). Find cquatlon of the
ﬂ : median through the vertex Rand Q. < 4 : -
lj ;: rr“ ll.'_ i ! , \'ﬂ!iﬂ'l'
% S OR .
;"[gqm’(meﬂ 15x+8y 34 = 0W15x+8y+31=0$$ﬂﬁ{ﬁﬁﬁ%@|
| C S % the dlsfancéli‘bct"’ee" the parallcl lines .15x + Sy - 34 = 0 a.nd
E- 15x+ 8y +31£0. 1%‘% Kin Y , i

S
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Prefeiea Siesl @ e w9 Raew aa #if 5
{ X 3 8 13 18 23
| -
L fi 7 10 15 | 10 6
) Calculate standard dcﬁiaﬁon for the following data :
i x; 3 8 13 18 23
fi 7 10 15 10 6

-7
SECTION -E
'@WM#WWW@%WHWHMWI T 49 10 Ho
ﬁa%nwwaﬁtéﬁwsmomh . 4

EMEET\WE:
(i) S FSHR a5 fF  Rerd & ¥ sgw wlieor & am ?
() R B A W B FAK 2 o € ?
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A civil engineer is given a work of renovating a semi-elliptical bridge. This
bndge 1s 10 m wide at the base and 3 m hlgh at the centre,

Answer the following questions : _
(1']' What could be the equation of the elhptlcal curve showing in the figure ?
(i) At what distance from the centre, the height of the bndgc would be 2 m ?

ﬁasfﬁmﬁﬁfﬁm%m%néﬁ%%@rﬁsmAﬁsmﬁ4mm'
a1, RearEl B, 4sﬁ2ﬁ3mﬁwwm%aﬂrf@aﬁc 3sﬂzﬂ2aﬂﬁmﬂr
mm%l s B 4
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.- A coach is training 3 players. He observes that the player A can hit a target 4

times in S shots, player B can hit 3 times in 4 shots and the player C can hit 2
times in 3 shots.

From this situation answer the following questions :
(i)  Probability that A, B and C all will hit target.

(i) What is probability that B, C will hit and A will lose ? .
Gﬂﬁ\.'@wﬁwmﬂgﬁ@%_ﬁﬁﬁq.mwm-mmﬁwﬁwa%m%
mmmmﬁﬂmﬂum'ﬂ T 81 AR cosec a = V3 AN
B secp =28 '

4

£
I F TR AAES S ¢
(i) seca @ AW FT AW ? -
(i) TP T A EW ? o -
(iii) tan o F 7 T AW ? : : '
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A submarine is moving in such a way that at a particular moment of time its
angle of elevation for two ships, situated at different positions on the surface of
water is a and p respectively, if cosec a = +/3 and sec p = 2.

Answer the following questions :
() What will be the value of sec o ?
()" What will be the measure of the angle p

(i) What will be the value tan a ?
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